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APPEy LU

ST UDY LCENTRE

TNPSC GROUP 1 / Il PRELIMINARY
WEEKLY TEST 8 OF FEBRUARY, 24

Which of the following statements is/are correct?

i) Ten cultural realms presents in the modern world

ii) Occidental Culture is the culture of European society

iii) Occident culture is divided in six sub regions

a. 1, 1i and iii b.iand ii c.1and iii

d. ii and iii e. Answer not known

LaTaumeuateuBmie 61&l/ eTeneu Filwimeng)?

1. paier 2 60860 LHHI HEUTFFTJ LOGWIL GUMIGH6T 2 _GITET6.

L. mCrmiiw FepssHer HeoTFSMIHMS CLm6OBHTL.(h HEOTFFTILD 6161 EBTLD.
111. GeW6UBTL (H HEOTFFMILD LB HIeN6T LOGWIL 60MIH6TH LfldsluL (HeiTerngl.
a. 1, 11 oBpd il b. i oBmp i C.1wmmib 1ii

d. ii Bpnd  iii e. alewL Gafluweisdensv

Consider the following statements:
Assertion (A): China has the maximum number of neighbours touching
its border.

Reasons (R):  China shares its boundary with 16 countries.

a. Both A and R are true and R is the correct explanation of A

b. A is true and but R is false

c. A is false but R is true

d. Both A and R are true and R is not the correct explanation of A

e. Answer not known

LI1GTRU(HLD  QUTEHESIUIBIGEN6T  &H6160 & EH LD

FBuI(A):0s DiFHsoTEr Siewienl HTBS6MT cle0eneEMm6TS QBTERIL BT{H FeorT
smyenid (R): Femaler eedenevseiled 16 BTHH6T SieMLDHIHI6T6T6N

a.(A) & (R) ggewipwo afl, (A) eyse sflwumen alendsd (R) susb.

b. (A) &f suemmed (R) sHeum

c. (A) soup spemmed (R) af

d. (A) wspw (R) Grewibw af wBpd (A)eyseg siwmer alendsd (R) oisd6v
e. alenL Oaflwalsdanev
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Which of the following is the World’s first Republic?

a. Athens b. Vaishali c. Pataliputra
d. San Marine e. Answer not known

LeTeu(hHeueteuBmled o 60860 (LPFHeO GHQUITdH 61517

a. glgmeierd b. eweusmel C. umLedysHFrid
d. grer Goenye e. alenL Oxflwalsvenev

Consider the following statements:
I: According to a report of the census Directorate, there are 22
scheduled languages in India

II:  InIndia, 42 languages are spoken by less than 10000 people.

a. I, II are correct b. I only is correct c. IT only is correct

d. Both are incorrect e. Answer not known

LIGTRU(HLD QUTEHSIUIBIGEN6T &H6160N & EH|LD

I. wéxel OFTend HEHOHGBLL BUISGHISSHHE DBldmaLiLy  SHaH el
22 uliguwiedL il L QomselT 2 eiterment.

II. @pgdwmalsd 42 Oompser 10000 &G GeopeuTe L&HHenTe0 oL (HGLW
GualiuB & eTment.

a. [, II &M b.1 ' G & c.Il ' @ &M

d. Bampled e@abevemed €. BTG HauB

Which of the following is/are incorrectly matched?

Linguistic Family Languages

i) Austric - Munda, Mon-Khmer

ii) Sino-Tibetan - Bodo, Karen, Manipuri

iii) Indo-Aryan - Hindi, Urdu

a.iand ii only b. iii only c.ii only
d. none e. Answer not known

SHouprer Senenienuld GziTey OFUIs.

QuomPld (G BIbLLD Qomipl

1. ool M - (pewtm, Guomest - DT

1. emgBeim — FHLusHgw - GunBLm, oifeor, el

iii. @BCsT — Syflw - b, 2 B3

a.i @b ii b. iii o (Bid c.ii o (Bb
d. eglededenso e. alewL Gz fuwaledensn

Choose the correct statement about Nobel Prize in Economics
1. Nobel Prize in Economics (2023) has been awarded to Claudia
Goldin for advancing understanding of women’s labour market
outcomes.




ii.  Amartya Sen got Nobel Memorial Prize in Economic Sciences (1998)
for work contributions to welfare economics

iii.  Abhijit Banerjee got Nobel Memorial Prize in Economic Sciences
(2019) for experimental approach to alleviating global poverty.

a.1,1i b. ii, iii c. 1, 1ii

d. i, ii, iii d. Answer not known

QurmenTaTISFHBaTer GhTued ufle uBPw Fflwrer sBpiseen CHis

1. @urr@mrrg;rrug;@m&srrm Gpmued ufle  (2023)  Guewigeler  OHmevmen
Fhowd elemena|seneTll LflbapOsmeren LmselsHd SHlenmouimt GCHmTevlgemishE)
QULPRIGBLILIL (H6TTeTS).

1.  ouisHur g GQUTHMTHTT DipslelwedsTer GpBTUeL Henerea| Liflflenen
(1998) QUTHIBED OUITHENMTHTIHSHMSHTT LIKISTLILBEHHHTH  CILIBMBT

1. oUMgeh uteafMsd 2 evsamalll aIBeNUL  QLINILGBSTET  CFTHemen
SIS (POBEHBTH  GQUTHEMTHTT  Diflalwedster  GhTLeD Henetey LIflg
(2019) L5

a.1,1i b. ii, iii c. 1,11

d. i, ii, iii e. alewL OFfluwaisoenev

7. Choose the incorrectly matched pair/s:
i) 21st Amendment Act - 1967
ii) 71t Amendment Act - 1991
iii) 92nd Amendment Act - 2003
a.iandii b. ii only c. iii only
d. none e. Answer not known
SHouprer Senenienuld BziTey OFUls.
1. 21-eug Sdweoemolil FULHHSHHD - 1967
1. 71-eugl Sydlwevenioli] FULAHHBHSHWD - 1991
1il. 92-6uz Sdluievsmolill &L &HmeHHd - 2003
a.1iommid ii b.ii o @Gw c.1il L B
d. eglededensv e. allewL Gz Muwaleveney

8. Consider the following statements about Tamil Language:
I:  The earliest period of Tamil literature Sangam literature is dated
from AD 300 - AD 600.

II: ~ Tamil has the oldest extant literature among Dravidian languages.

a. I, II are correct b. I only is correct c. IT only is correct

d. Both are incorrect e. Answer not known

SO Ty GH¥Ss sEmBpiseaiey Fflwmerg e1g?

[. 31010 BeudausbHET (IphHGHUl HTevld GUT.&L.300 (PpHeo OUT.&L.600 eUem]T
® LUl FHH BeVdHDIUI HTEULDTGLD.

II. Hygrall.  Qumflseaisd  HWOWDHTET  OSL  LPWLWTET  E60SHS WIMIBEN6I
AEECRIRIER
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10.

11.

12.

13.

a. [, Il sfwreng b.I w' @Gw &M c. Il w @G &M
d. @yewi(hd Heum e. alewL Oxflwalsvenev

Which of the following tribe belong to the backward class and are not
classified as tribal?
a. Todas b. Badagas c. Kotas

d. Kurumbas e. Answer not known

Uesteupld 61b» BerihHeauT USISmSL au@lienl CFTheHealTHelT SLeTTed LIPHIGIQ
BDHFHATHNMTS  aUMBLILIHSHSLILIL a1606M60.

a. GaxILitsel b. uGsTser c. Gamm

d. @@mbuTse e. alewL Gxfuweisdenso

The ‘Munds’ are the settlements of

a. Badaga b. Toda c. Kurumbas

d. Paliyan e. Answer not known

oS LILpmI&IQu il 6ot LD&5 & 611l 60T GSIQUI(HLILIEH6IT 7 (LPGTOTL_61D” QLIS
SIMLPSHBLILIBH S 631601 ?

a. LU{BBTH6 b. B fTsei C. G(HLDLITHEIT

d. umeSuimest e. alewL Oxflwaisveney

Choose the correct statements:
i) Tribes of Tamil Nadu are concentrated mainly in the district of Nilgiris.
ii) There are around 38 tribes and sub tribes in Tamil Nadu.
a. i, ii b.1only c.ii only
d. none e. Answer not known
gflwmen autsHlwmisenet BxiTe] GCguis.
1. SODBTIIGEL  LpRIGQUIaTTEeT  Heodlifl  TalLSHHD  (PSHSTEHWTH

SIT6R0TLILI(H &) 63T 60TT

1. SODBTL 1960 &IOMT 38 LIPRIGIQUIEIT IOBBID SHIemewT LIPHIGIQUIT (&H(1DEHDH6NT
® GIT6IT6UIT.

a.i, i b.i G C.11 1oL (Blb

d. er@afevenev

Which of the following tribe mainly inhabit in the region of Jharkhand?
a. Bhils b. Gonds c. Munda

d. Khasi e. Answer not known

WPSHIWIDTE  DWMTHHmIL  LUGHUled eaudldb@Gd upmIGIQuierT LlealmueTaeriey)
wirrir?

a. 16061061 b. Gameihameit C. (LpGUTLIT

d. srd e. alewL Gz flwealsbensv

Who is appointed as a Election Commission’s National Icon?
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14.

15.

16.

17.

18.

a. Rajiv Kumar b. Rajkummar Rao c. Rajiv Shukla

d. Rajivmenon e. Answer not known
CxrIHev LememiisHHler CHFul HiewL WTemoTs BuOlssUILL (BeiTermeuT wimT?
a. Jredlel&HLomiT b. @y ont grel C. ®Imedlell Gi&beLrT

d. @yredeuGioeest e. alewL Oaxflwealsdenev

Which animal as said by Valluvar, to be lifeless if the hair is removed from

his body?
a. Pulliman b. Kalaimaan c. Kavarimaan
d. Kadamaan e. Answer not known

GHeil 2 L IblleV(Hbgl wullT prhidemed o ullT eumpTEHl 6163 UGTEHEUT SnmID
alleomid 61?7

a. Lemeflomest b. @emevLomest c. aeauflomest

d. sLiwomes d. elewL Gxflweisdenev

The 6th term of an AP is 6 and the 16th term is 14. What is the 27th term
a.22.8 b.41.6 c.15.9

d.32.4 e. Answer not known

R FLB O0pTLMed 6-6uxkh 2 My 6 wBBID 16-6uxk o miiy 14, 27-6ug)
® _MIL] HTeNIHb.

a.22.8 b. 41.6 c.15.9

d.32.4 e. alowL. G5 flwaiedemnsv

The first aerial images were acquired with a camera carried aloft by a
balloon in

a. 1857 b. 1858 c. 1859

d. 1860 e. Answer not known

(PSH6L  auTeTOleuerl L ewadLILIL LD 60  Ueened OuUTmSHSIUL L Gsiogm
eLpeVLlD  GT(H&SBLILILL Gl

a. 1857 b. 1858 c. 1859

d. 1860 e. alewL Oxflwalsvenev

India launched its first geostationary satellite on

a. April 29, 1980 b. June 19, 1981 c. July 11, 1983

d. January 2, 1980 e. Answer not known

BhHWT H&T (1pHe0 LalblensoF OFwmens Gsmewen eIGUTEH gailuig)?

a. 1980, gliged 29 b. 1981. sgeir 19 . 1983, sgremev 11
d. 1980, egeweufl 2 e. alewL Gz fuwaledeney

Which of the following is/are geostationary satellites?
i. LAND SAT ii. METEO SAT iii. INTEL SAT iv. INSAT

a. 1, 1i and iii b. ii, iii and iv c.ii and iv only
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d. all the above e. Answer not known

LesteumeuaiauBmied Lialblensy OFwmensdd CHmeiisen eleneu?

i. LAND SAT ii. METEO SAT iii. INTEL SAT iv. INSAT
a.1i, 11 oBmud 1ii b. ii, iii o@D iv C. 11 oBmId 1v 1oL (BLb
d. Gmear saIsaId e. el GFhflwaledemsv

19. Choose the correct statement about Kalamsat:
i) Itis the world’s lightest satellite.
ii) It's weight is 68 grams.
iii) It was designed by Tamilnadu student Rifath Sharook.
iv) It was launched by NASA on 22 July 2017.
v) The first to be manufactured Via 3D printing
vi) It was selected through a competition, ‘Cubes in Space’, sponsored
jointly by NASA and ‘I Doodle Learning’'.
a. i, iii, v, vi b. i, iii, iv, vi c.1i,ii, iii, v
d. all the above e. Answer not known
SUTDFTL. GBS UTHBHIWIRIHN6T &H6)6d:
1. o eudlall WBAD 6D SHGMBHS CFLBmEDHEHT6I
1. &5 68 HImMD elenL GHT6wIL Hi
11l. ®e0& SLODBIL (B Lomewteuest M. .LILUTSH &Fahd UQEIMLOSHSHTT.
V.85 o°emev 22, 2017 60 [BTFTEUT6D eJULILIL L G
V. (1p&H6e0 (Wrufioment SiFengd OCsmeni(h HwMTeSLLL L HTEGLD.
vi.@mg BsbosbsHs cubes in space siep Gumily mrem wBpid I Doodle
learning o1tz @gewi(h Bpiouehiseflen © LWGHSTeO BLSHSILILL STGSLD.
a. i, iii, v, vi b. i, iii, iv, vi c.1i,1ii, iii, v
d. Bmal SiMEIHSHID e. alewL Oxflwaisvenev

20. Match the following;:

A. First Generation 1. Vacuum Tubes

B. Second Generation 2. Integrated Circuits
C. Third Generation 3. Transistors

D. Fourth Generation 4. Microprocessors
OLIT(HSHSIb:

A. 1p560 HMeL(PeB 1. GeouBpslL&@Ipmul

B. @yewiLmbd sHeweo(penm 2. QUHRISmenIhHS LOTHBBI
C. apeimmbd Hemev(Lpenm 3. fnflw WestoriGILImS)
4

D. mremsmd Hemev(lpenm . BIWIOFW)
A B C D

a 1 2 3 4

b. 1 3 2 4

c. 1 2 4 3
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21.

22.

23.

24.

d 1 3 4 2
e. allewL OaMwealedeneo

Who is the author of “Sivappu Kazhuthudan Oru Patchaiparavai”?

a. Lakshmi b. Jayamohan c. Rajanarayanan
d. Imayam e. Answer not known
Fouiy SWHIILOT @(h LFMFLILBME! 616IB [Breuevler S MwiT wmir?
a. 6LILO b. QquwiGrsses C. BB 60T
d. ®wuib e. alenL Oxflwalsvenev
The GNSS satellites orbit is situated about above the earth’s
surface.
a. 20000 km b. 35000 km c. 36000 km
d. 15000 km e. Answer not known
GNSS  GrwpBenasBsmeiser Lalullelbha  SLOTT H.5 2 wysHFHey
&N U(HBITN360T.
a. 20000 &8 b. 35000 &.i8 c. 36000 &.i8
d. 15000 &.i8 e. alewL Oaxflwaisveney
Match the following:
A. GPS 1. United States
B. GLONASS 2. European Union
C. GALILEO 3. Russia
D. BEIDOU 4. China
QUIT(HSHSHIH:
A. GPS 1. madwu CWNEHT BIHS6NT
B. GLONASS 2. @Grminius uyesiuliest
C. GALILEO 3. geduim
D. BEIDOU 4 Feorr
A B C D
a 1 2 3 4
b. 1 3 2 4
c. 1 4 3 2
d 2 3 1 4
e. alenL O flwalsdenev

The Sustainability was First featured in the principles adopted by the
United Nations Conference on the Human Environment held at
a. Rio de Janeiro b. Stockholm c. Johannesburg
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25.

26.

27.
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d. New York e. Answer not known
Cueamd5Ghs GULIUTE 6613 &GHSS W WHeded 6 BLbBS
EONSHET UTIPLD GHLP6D 613  HeWeULIled HeoLOuBm @& BTL(H gl
BHHHHTHIHIL JBBISHEBTETETILIL L .

a. MBwm 19OeN@ym b. erdL grsBamid C. CraeitervLITs
d. Pugwirite e. alenL Oxflwalsvenev

Which of the following is/are incorrectly matched pair/s?

i) Rachel Carson’s “Silent Spring” - 1962
ii) Stockholm UN conference on Human Development - 1976
iii) Brundtland commission report - 1987
iv) Kyoto Protocol - 1997
a.iand ii b. iii and iv c.ii only

d. iv only e. Answer not known

CUTHSHHLBB Denentenwl CxiTey GClFuis.

i. Croged smienvest ~Slemind) 2amml” - 1962
il. eOLTEBGammd - walgh alenTFHobsTer |meHu BThHEHeN HHGHHIHEG — 1976
111, LIFewrl_60euoil.  SLeM6mTILISHIH 6 DINsldbemnas — 1987
iv. s GLr GBs(penpael - 1997
a.1impud ii b. iii wBmb iv c.ii L @Bd

d.iv o’ @G e. alew Ozxflwaisdenev

The three fundamental components highlights by the Brundtland
commission are

a. Environment, Equality and Society

b. Environment, Economy and Safety

c. Environment, Health and Economy

d. Environment, Economy and Society

e. Answer not known

LT VeIl SUMEUILSHET — DIBIHBWITOIH  CPTDl  (PHHU  FnBIHeneN
9N9HCHML (hd HTLIQUIGHI, DIEDEUUITEGT

a. SBDIFGLP6V, FLOHSHIAID BEBID FepssLd

b. FBBIFGWL, QUTHEMTSHTIID WOBEID LTSHIGBTLIL

C. GMMIFGGHOD, GUGTD LOBMILD GUT(HEMTSHTILD

d. aBBIFGe, CUITHEMTSHITID BHBID Felpsid

e. alemL Oxfwalsvenesv

Choose the correct statement about “Saraswati Samman”

1. Siva Sankari was honoured with the prestigious ‘Saraswati Samman’
2022 for her memoirs “Surya Vamsam”

2. Saraswati Samman Award presented by TATA group




28.

29.

30.

a.ionly b. ii only c. both i, ii are correct

d. None of these e. Answer not known

gyerveud Fbomer al(hdHFHeT GBlsHd Fhwmer Fnppisenet GCHiTw

1. Fousmsf oeuselear BHaad GBLUSeTer “HIw  abgFHHBEG~ 2022
D LemihbETer WHIOSS ‘FTerdeud Fbwer all(hdhl 6UDBRISLILILL .

2. gJereudl FDIOTET ll(hFHlemen QUPHIGHIGH LITLT GOLSHH 6T

a.1 L (Bb b.ii ol G c.1,1 &l

d. @men gaidlebenev €. alenl OFHfuialedensv

What does Valluvar say one needs in a time of increasing wealth?
a. Humility b. Courage c. Growth

d. Hauteur d. Answer not known
QFevaUD GUHBUETENT HTeVHHD QR(HoUMISG 6% Couswi(BLD 6TaIm H(HeusTEHeUT
FnBISWTT?

a. uenfley b. sieniey C. 2 U6

d. QemsE d. alen. Gxfwelsbenso

Match the following;:

A. Millennium Development Goals 1. 2002

B. Agenda 21 2.1992

C. Johannesburg Conference 3. 2000

D. Rio +20 4. 2012

QUT(HSHHISH:

A. prBmresi® auenT&S @evdEHdHer 1. 2002

B. Gamfldama 21 2.1992

C. Craaianedurs S(HHHImIG 3.2000

D. fGwmr + 20 4.2012
A B C D

a 1 2 3 4

b. 2 1 3 4

c. 4 2 3 1

d 3 2 1 4

e. alewL O flualsdenev

342,52, 742, 92....... This sequence is called

a. A.P b. G.P c. H.P
d. None of these e. Answer not known
3v2,5V2, 742, 942........ 6l QHTLT euflengwimeng)

a. gl BH QLT auflews b, QuUBSGS OFHTLT auflens

C. BMFHOHTLT auflens d. BauBmie eIEIa|Oe0m6D

e. allemL  OFflwalsvensv
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31.

32.

33.

10 | Page PH: 044 - 24339436, 42867555, 9840226187

The International Union for Conservation of Nature introduced the term
“Sustainable Development” in the year

a. 1972 b. 1980 c. 1986
d. 1992 e. Answer not known
Buipensll  uTgisTUIBST  FTauCsHs  SienLoliL B0 CueIHHGHSH
Goum® e1eiB g Teemev DIBI(PSLILIGSSHIWISI.
a. 1972 b. 1980 c. 1986
d. 1992 e. alewL Oxflwaisvenev
Match the following;:
Conference Year Place
A.Cop 15 1. 2009 i. Cancun
B. Cop 16 2.2010 ii. Copenhagen
C. Cop 17 3.2011 iii. Paris
D. Cop 21 4.2015 iv. Durban
a.a-1-iii  b-2-iii c-3-iv d-4-i
b.a-1-ii  b-2-ii c-4-iii d-3-iv
c.a-2-ii  b-1-iii c-3-i d-4-iv
d.a-1-ii  b-2-i c-3-iv d-4-iii
e. Answer not known
OUIT(HSHSIH:
LOMBIT(H 21,6001 (h @L1b
A.COP 15 1 2009 1. BTEIIH6
B. COP 16 2.2010 ii. GarueTeama e
C.COP 17 3.2011 iii. umflerd
D. COP 21 4.2015 iv. Liuesr
a.a-1-iii ~ b-2-iii c-3-iv d-4-i
b.a-1-ii  b-2-ii c-4-iii d-3-iv
c.a-2-ii  b-1-iii c-3-i d-4-iv
d.a-1-ii  b-2-i c-3-iv d-4-iii

e. alemL O flwalsdenev

Choose the incorrect statements:

i) Earth’s temperature has gone up about one degree Fahrenheit in the last
100 years.

ii) Warmer weather helps pests survive longer which can destroy crops.

iii) Since 1990, the sea level has been rising at a rate of at least 0.5 to 1.0 cm
per year.

a. i, ii b. ii only c. iii only




34.

35.

d. none e. Answer not known

SHUBTT TSP WmIBemen BHTey OFUIs.

1. &Lbsd 100 eumLmHeis0 Ualuler Geniupleneowmerg  1° umyesiansl
DIFH B HFHl6TerH]

1. GeulIDTer @G0 LFFH6T SiFHd BTl selT o uiGrmh Smbak LulTeemen
PSS 2 FHa b

1ii. 1990-seflel(mba pemibsE 0.0 ambha 1.0 QF.15 o wyb euemy &HL6O BT
UL o Wihgl HSBSHI

a.i, i b. ii o1 (Bid C. 1i1 1o”(HIb

d. e@e|devenev e. alewL Gxfuweisdenso

Which of the following statements about Environmental Impact

Assessment is/are correct?

i) EIA was introduced in India in 1978 with respect to river valley
projects.

ii) Since 1994FEIA was amended for 13 times.

iii) The MOEEF recently notified new EIA legislation in September 2006.

a. i, ii b. i, iii c.ionly

d. all the above e. Answer not known

FBBIFSHP0 STEHL WHINGH0 (EIA) @Bss smppiseied Ffwmerg erg?

1. @bHwreled SFBMIFHLD STHHHMS DeNalBLD (PewB  BMILILIGTETHTHE
CFweLFILLmBmen SjemalBo CrreassHCHTH 1978-60 OFHTLMISLILIL L .

1. @bH FDBBIFGLON HTHBHH60 13 (PewB H(HHHHIS6T CFUILILILL [H6TerT6.

iii. MOEF udsns @m EIA sligms Qi ibut 200660 Geuefuil L gi.

a.i, ii b. i, iii C. il (B

d. @meal gmaisEId e el s fluwaledamed

Choose the correct statements about 2030 Agenda for Sustainable

development?

i) It has 17 goals and 169 targets.

ii) It was adopted by 193 member states at the UN General Assembly
summit in September 2015.

iii) It came into force on 4 November 2016.

a. i, ii, iii b. i, ii c. i, iii

d. ii, iii e. Answer not known

2030-60 gBUBHHW CuetdHeHGHH Gwburh CarlieEmadser GBS FnBBIHerTe0

gilwmengl 6151?

1. Bz 17 Cuanids@phd GCLLUTL(H EedHGHH6T WLBBID 169 EevdEHHmer
OBTemT(H6ITENT ).

1. mébaw BTh@eT gouuler 193 o min] BTIHSEHD GFLbUT 2015-60
HEOL OLIBM  LOTHTL 1960 60D JMM3IH 0\ T 60T 60T

. @g BeubLT 4, 201660 HOL (LHMOBHG, MHBHIH).
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36.

37.

38.

39.

a.1,1i, iii b. 1, ii c. 1,11

d. ii, iii e. alewL Oxflwealsdenev

Which agency developed Vikram - 1 Rocket?

a. Agnikul Cosmos b. Skyroot Aerospace

c. Dhruva Space d. Bevatrix Aerospace

e. Answer not known

aldgb - 1 grHoslmL 2 (HhouTdhsluwl HmIeUeTD 61g)?

a. IHENEG6D BIErOLDT6N b. ervemaseml. gGymerdBuLierd

C. ImeuT 6roGLIGN d. GQueur’ Méerd gGymerdGLerd
e. allewL OaMwealedeneo

The Brundtland Commission submitted its report in

a. 1984 b. 1987 c. 1990

d. 1992 e. Answer not known

LT 60T 6V6MTL.  SLEMGIULILD Heig DPHmdenul FIoMINSHSH L6wiH
a. 1984 b. 1987 c. 1990

d. 1992 e. alowL Gxfluwealsdemev

Consider the following statements.

I. Foreign Portfolio Investment is an investment in hedge funds, insurance
companies, pension funds, and mutual funds.

II. FP1 is part of capital account of Balance of Payments.

a. I, II are correct b. I is correct c. Il is correct

d. none e. Answer not known

LeiTeu(BlD FnBBISEneT SLJTUIS.

. QouafipT B M cpeuHerd eaiLg STUT (B HBIeURTHIS6T, g@uisldul B
Lenighend LBBID (WaiBuy BHig Fhemdseaied OGFUIWNILGLD B  LPEOSHILD
LS LD.

II. QouafipT B Mg  cpeoFerd  eumewiiLgF  OCFeISHHF  FOHML  (LPEVSHISD
HSHDHT QH LIGD.

a. I, II &1 b. I &1 c. II &1

d. gaidevenev e. alewL G fluwelesbensv

The Indian Rupee was not devalued in the year of

a. 1949 b. 1966 c. 1991

d. 2016 e. Answer not known

BphsHwmaled GFevmeusnll LOHIIBHSID OFUIWINILLTS DLewih 61517
a. 1949 b. 1966 c. 1991

d. 2016 e. alewL Oxfwalsvenev
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40.

41.

42.
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Consider the following statements.

I. In Favourable Balance of Trade the total value of commodity exports of
a country is equal to the total value of the commodity imports of the
country.

II. In Unfavourable Balance of Trade the total value of commodity exports
of country is less than the total value of commodity imports of the

country.
a. I, II are correct b. Iis correct c. Il is correct
d. I, II are incorrect e. Answer not known

LNeiTeu(HLD FnBmISHEmeT HLTTUIS.

I. srgpswrer  eumemiub O&THLULUM Hensoulsd UewiL  gB@ILSH Ul  GLOTSHS
FHI BpébGwHuller CoTHs WHINBESGF FOWTH BHBGLD.

II. ursoTer eumeniug C&ETHLUILD Heneoulled @ BT 16T LWL  JBBILDUTen
OrsHsh  WLHUY Ui  BSGWHuler 6CTshs WwHlmUalL  GmBeuTs
B([HSBHGLD.

a. I, II & b. I & c. II &1

d. L, II seumi e. alew Oxflwalsvenev

Which of the following statements is/are correct?

i. Balance of Trade refers to the total value of country’s exports of
commodities.

ii. Balance of payments is a systematic record of a country’s economic and
financial transactions with rest of the world over a period of time.

a.i, ii b.ionly c.ii only

d. none e. Answer not known

LesTeu(meusauBmie Ffluimet gnmpllenetd GCHIH0HMH.

1. UewiLMiseMet gmmiogd W& euTeniiud GaTHLILD Hlenev 6TarILBSMBSH.

1. @ BTG @ GUEUILL &TeudHdHed o & HThHBEHLE  GLBOHTeTEmHLD
QurenTaTy  uflushdmen  QHTGLenL  DWOBTLBGF  CFISHH  Hleme
61601 BmmLD.

a. i, ii b. i L @B C. ii 1" @b

d. gsudevenso e. alewL Oxflwalsvenev

“For one, his greatness is in his character’ - Find out the Kural which
conveys the above meaning
a. All men that live are one in circumstances of birth;
Diversities of works give each his special worth.
b. The men of lofty line, whose souls are mean, are never great
The men of lowly birth, when high of soul, are not of low estate.
c. Like single-hearted women, greatness too,
Exists while to itself is true.




43.

44.

45.
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d. The man endowed with greatness true,
Rare deeds in perfect wise will do.

e. Answer not known

QUHUBSHGSL OB  GHWISHHTED UBHLD - BFHBEG OCUT(HSHSLOTET  (HBEn6r

CaMHOHHHS.

a. Upliurs@ld eteveum o ulliTdb@Gd FpriGumeieur
CFIOSHTHe0 GouBmientd WImesT

b. BGueimH&HID BLoeveveuTT BGDeVEVEVT BN ([HbHSHID
&LPELGVMT  &BIPED 6V

C. @@mem W&eMGr Gumeull OLIHEMLOWD
SHAMNHSHT CBTERIOLTLFH T 2 6wi(h

d. QU@ WEL WIeIT SYBBICUTT SLBl6
D|(HMD 2 6L Ul GlFuIed

e. alewL GFMwealedensv

Who said that “Environmental problems are really social problems they
begin with the people as the cause and with the people as victims”?

a. Bill Clinton b. Abraham Lincoln c. Sir Edmund Hillary

d. John F. Kennedy e. Answer not known

“FHBMIF GHLD6D LNy & F 60 60T B 61T ® swlenloulTeBel F(LPSHTWILI LNy & Flem et b6,
Siemeusberlell HIUSSSHIBEG LHHG6T  SATENIOTHAD (PIgaled LITHeSLILIBHUSID
L0&&Gen” 6163111 Fnsluleuy?

a. Ne0 &lerileuwrL 6ot b. eyiiysnd sOmisest C. &J eIl Loewi® anfleom]

d. egmert F. Osetieonig = €. aflen. G fluwialedensy

Which country named the cyclone ‘Hamoon'?

a. Iraq b. Iran c. Indonesia

d. Qatar e. Answer not known

‘amelpest’ 6163 LWeVH@ 6lhd BTG Ouuwifll L g?

a. myms b. mymest c. @bCxHTCardlwim
d. s e. alewL Oxflwalsvenev

A mother divides X 207 into three parts such that the amount are in A.P.
and gives it to her three children. The product of the two least amounts
that the children had X 4623. Find the amount received by each child.

a. 57,59, 61 b.77,79, 81 c.67,69,71

d. 65, 69,73 e. Answer not known

Q0 HTul el o efen X 207 o gl GBS OHTLT euflenauled oiemouom|
el UTsmsemmal  Ufessh HaIE  cpaipl  GLHMSIEHEGL  OBTBHS
alplemT. euBpled Bm Aw CaTasseie OUMmSBBLeVET X 4623 oGl
QAIOT(H GWHmSUID CUBID CHTenHUTENETSH HT6HIH.

a. 57,59, 61 b.77,79, 81 c.67,69,71




46.

47.

48.

49.
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d. 65, 69,73 e. alewL Oxflwalsvenev

The protection of the Environmental Operations Act was enacted in ___.

a. 1972 b. 1980 c. 1982

d. 1997 e. Answer not known

SBHIFG60 GFweouThHeller LUTHISTOL FULID SuiBprul L SLewiBLID
a. 1972 b. 1980 c. 1982

d. 1997 e. alowL O flwalevenso

Which of the following statements about Global warming is/are correct?

i. Average temperature around the world have risen by 0.85°C over the
last 100 years.

ii. About two thirds of this increase in average temperature has occurred
since 1975.

a.i,ii b. ionly c.ii only

d. none e. Answer not known

ol Geuliuwowiorgded umpl Ffluimer gappleneid CHiboH®.

1. 2 eoaler  ggmef  Geiuplenso  &LpBH 100 spemiBsefled 0.85°C
o WIITHSHIGT6IG.

1. @860 cweasled @Tewi(h UGG Geulluplensy 1977 &@& LaT SIHFFHHleTeng).

a. i, ii b. 1 1ot (B c. ii @b

d. gsIdevenso e. alenL G fluweledensv

Which of the following is/are greenhouses gases?

i. Carbon dioxide ii. Methane

iii. Chlorofluoro Carbon iv. Nitrous oxides

a. i, iii b. 1, 1ii, iv C.1,1ii, iv
d. all the above e. Answer not known

L esTeu(HeUGTOUBMIGT LIGieHIOEEO60 6Tl ]?

1. STTUGT-DL - &Hem6r0([H 11. 15886

111. &Genm@ymy@mEym  HmiTLI6HT 1V. eBLJ6r0  SLdHemero(Bae6l
a. i, iii b. 1, 1ii, iv C.1,1ii, iv

d. GoBampPu SmarsE e alenl G flualedanso

The CO; is the most important of the greenhouse gases contributing to ___|
of global warming

a.29% b. 42% c. 50% d. 58% e. Answer not known
sflwidlev eumwy yell Geuliubd HSFHS _ STJeRIOTS 2 66N (PSSl LIgienLo
®6060 6UTU|

a.29% b. 42% c. 50% d. 58% e. alenL OFpfwaledensv




50.

51.

52.

Match the following

A.SDG1 1. Zero Hunger
B. SDG 2 2. No Poverty
C.SDG 4 3. Gender Equality
D.SDG 5 4. Quality Education
QUIT(HSHSHIS.
A.SDG 1 1. ulgeiluilsveor Hlensv
B. SDG 2 2. UBIEHLOWIMBB [Hlenev
C.SDG 4 3. ureder FLDSHGHIGUD
D.SDG 5 4. FHILOTRT H6O6

A B C D
a 1 2 3 4
b. 1 2 4 3
c. 2 1 3 4
d 2 1 4 3
e. alemL Oz flwalsdenev

The World Development Report was released by

a. International Development Association

b. World Bank

c. International Monetary Fund

d. United Nation’s Development Programme

e. Answer not known

© o0& 6UeNIFS oMldemdamwl OeuelulBeugl.

a. uetenml_ (B GobUT (Bd HLPSLD b.2 s aumd

C. LGS (B Liewr [Blauiid d. ey.mr.alesr Guobum G &L ib
e. alenL O flwalsdenev

Which of the following about World Development Report is/are correct?

Category GNI per capita (in US Dollar)

i. Low income countries - $ 906 and below

ii. Middle income countries - between $ 1000 and $ 1200

iii. High income countries - >$1200

a.i, ii b. ii, iii c.ionly

d. ii only e. Answer not known

etou(haueouBmiell 2 60&  auenf&Fd  omdmaliuy  FHlwumed  GQUIHHIUWS
o151/ eTemeu?

aUNBLIT(H Houmaid OCTsHsd BTG 2 BLSHS

1. GOMbHS QIHLOTET(LPENL Ul HTHH6I - $ 906 WBHYID HIBBEG GHMBe
ii. BEHHT UHOTI(PEDL I HTHEH6I - % 1000 apmHed $ 1200 euemy
111. 9IFHS  QUHLOTEI(LPEDLUI [HTHSHEN - > $ 1200
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53.

54.

55.

a.i, ii b. ii, iii C. 110 (BLD
d. ii ol @B e. alewL Oxflwealsdenev

Nobel Prize in physiology or medicine - 2023 awarded for

a. Discovering Concerning necleoside base modifications that enabled the
development of effective mRNA vaccines against COVID-19

b. For discovering the complex process behind how human cells respond
to change in levels of oxygen

c. For discovering the Hepatitis C virus

d. For discoveries concerning the genomes of extinct hominins and human

evolution
e. Answer not known
2023681 O(HSHGHIUSHH MBI CBHTLED LIflg &G UPHRIBLILIL L )

a. Camall -19 &@ adyrs uwaieiien MRNA HEULSHASmen o (HaITsh@GaHBE
o ga|b necleoside ©igliLenL  OTBBEIGMETS  BH6UILASGH60

b. aybeimaier oemaBeiled gBUBID WITBBHAHBSG WG GCFe0B6T sleleUTH
LgleveldbFeimen eIGILSBSL Ll6Ienmed o eien  FldbHevmenn OFuIsO(LPENBMUISH
& 630TL_1531 &6V

c. GasuemLiged C enaurenerd SHeni(BLIGHSH60

d. oufpsGurer Bammidleldiseien WFLEMIGHE6T BRI welldh UflemmTon LBsul
ST (HLIQLIL| & 61T

e. alewL GFHTwealedenso

Which of the following statements about Economic growth is/are
incorrect?

i. Deals with the Problems of Developing countries.

ii. Change is gradual and steady

iii. Concerns Quantitative aspects.

a.i,ii b. i only c. i, iii
d. none e. Answer not known

QuUTHEMTHTT euenFd LUBB SHeumTer Famenpd CHIHOHHB?
1. alen(HD BTHH6MET LNTEFFMOBN6NTDH MBHUITEHHMBH.

11. LOTBBRISET LIQLLIQUITED BSHTEIOTHD BHDSBSI.
1i1. eTemtenlldbend  SIQLILIGHLUNGOTCITG.

a.i,ii b. i 1" BLd c. ii, iii
d. gaidevenso e. alewL Gz fuwaledensn

“Economic planning is collective control or suppression of private
activities of production and exchange”. This definition was given by

a. Robbins b. Dalton c. Samuelson

d. P.C. Mahalanobis e. Answer not known
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56.

57.

58.

QUTHEMTHTISH HULIOLD eladUg  “Slwmy o MusHd  1oBmid  alpGuwirs)

[BL_GULY &560)FH 6061 Gl LTS SL_(bULbBSH SIS DI6LEVG)] bHGHUMBHDH
GBLIIBHUSTGID”  6TedImal?

a. [mesrerd b. LmeOL 6dr C. am(pGeueOF 6T

d. P.C. wameu@enmiierd e. alowL OHflwaledenso

is absence of conceit; meanness, we deem,
Riding on car of vanity

a. Greatness, Supreme b. Greatness, Meanness
c. Meanness, Greatness d. Meanness, Meanness
e. Answer not known
QLI(HEmLD BesTenip  FlmlenLp

ol 66D
a. QuEEOBD, GUHLOSBD b. Qu@wisd, ABidHd
c. dpidigb, CQUIHLISLD d. fApdsbd, HApdsbd

e. alewL Oaflualsdensv

Consider the following statements.

i. The current thinking of economic planning is rooted in Marxist
Socialism.

ii. Soviet Union adopted economic planning for the first time in 1929.

iii. The idea of economic planning was strengthened during the Great

Depression in 1930s.
Which of the above is / are correct?
a.i,ii b. i, iii c. i, iii d. i, ii, iii e. Answer not known

LNeTeu(HLD FnBmIHEmET SLTTUIS.

1. sBBurewadw  QuImenTHTy HULbLed wifsds CargelssHdled  @reTey
GouemeilueiTera).

1. Cemalwsd e S LIOL w60 (PSHI(LPHeVIe0L 1929-860 HIOURISUIG).

1il. 1930-®efled  gBULL  QuUTHEMTHTY  WHS  HeveoullerGurgdl L O 66l
SlUFWID TG H(HHFH! UGIDL [HHJ!.

Gomanpfwieuppien Fflwimengl eig / etemeu?

a.i, ii b. i, iii c.1i, i1l d. i, ii, iii e. alewL OFHflwaledensv

Which was suggested the creation of a National Planning Commission and
elaboration of mixed economic system?

a. Sarvodaya Plan b. Jawaharlal Nehru Plan

c. Industrial policy of 1948 d. Gandhian Plan

e. Answer not known

LeTeu(hHeueteuBmIe  emoUWlgH SHI LG WLBBID SOl QUTHETTHT]  SHIeHLOLIL
SFWABOB SIwSHS UfhRHenTHHH 6157

a. FyGeaurgswim H L 1D b. e3auamFeore0@r(m Hi L 1D
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59.

60.

61.

62.

C. OFmPled OEmeiens 1948 d. b L 1D
e. allewL OaMwealedeneo

The planning commission was constituted on :

a. March 5, 1950 b. March 15, 1950 c. April 1, 1950
d. April 15, 1950 e. Answer not known

S LSS HpeuiulL b6l

a. omyg& 5, 1950 b. womy& 15, 1950 C. gliged 1, 1950
d. guged 15, 1950 e. alewL Oxflwalsvenev

In a Geometric progression, the 4th term is g and the 7th term is 26743. Find

the Geometric Progression.

a.2,4816 .. b.3,2 % . 4 8 U
3 3" 6
d. 2, %,g, ..... e. Answer not known

@ OUmEGS OsTLTeullemaulledr 4-6ugh 2w gmﬁ}@m Tougl 2 ML %

a6y, DIHSHL CUBHBGHSH CHTLT auflengemuls SHTewIs.

a.2,4,8,16 .. b. 2, i1 c4, 8, B .
3 3" 6

d. 2, 2,%, ..... e. alewL Oxflwaisvensv

The first five year plan was launched on ____

a. January 1, 1950 b. January 1, 1951 c. April 1, 1950

d. April 1, 1951 e. Answer not known

WPH6O PHFHTEWIB SILLLD BOL(PMBES 6UHDH BreT

a. smevtauifl 1, 1950 b. sgeweurf) 1, 1951 C. guge0 1, 1950

d. guiged 1, 1951 e. alenL Oxflwalsvenev

Which player won the Ballon d’or Feminin - 2023?

a. Lucy Bronze b. Sam Kerr

c. Aitana Bonmati d. Caroline Graham Hasen
e. Answer not known

Ballon d'or Feminin - 2023 aflpens Oeueis iy wimy?

a. eumd) Lymesterd b. smb Qair

C. ouilLmenm GuUTeILDS) d. s8ymelet Syammd amTFer
e. alewL Oaflualsdemed
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63.

64.

65.

Who made the first attempt in laying foundation for economic planning in
India?

a. Jayaprakash Narayan b. Jawaharlal Nehru

c. Subash Chandra Bose d. Vishveshwaraya

e. Answer not known

(WHB(WPHeU60 @hFHlwmaled S LOBHVISHTEN DIQSHBHNHMDH HIENLDSH 6] !

a. Oxwiiysrad HIyTuIewT b. meuamjeored GpH

Cc. suTead FhaHy Gumerd d. alervGeusrdeuruiwim

e. alewL OFflwaledensv

Match the following

A. Gandhian plan 1.1944

B. Peoples’ plan 2.1950

C. Bombay plan 3.1940

D. Sarvodaya plan 4.1945

CUT(HHSHIH.

A. sMhHwSHFH LD 1. 1944

B. wéseidl LD 2. 1950

C. umbGu & Lib 3. 1940

D. sjGaunmgswm gL b 4. 1945
A B C D

a 1 2 4 3

b. 1 4 3 2

c. 1 3 4 2

d 1 2 3 4

e. alewL Oaflualsdemev

Choose the wrongly matched pair.

i. Bombay plan - Investment plan

ii. Gandhian plan - Agriculture and Rural economy

iii. Sarvodaya plan - Agriculture, small and cottage industries
iv.People’s plan - Industrialization

a.i, ii b.1ionly c.iv only

d. iii only e. Answer not known

saupTsll GuTphHw Senentenwid CHIbHOS 6.

1. umbGu gL - M6 (PpHeS. (B S L LD

1. sMhHw S LD - Gouenmesientd LOBMILD &FTOL QUITHEMTSTFLD
1i1. FFGaurswim HLL b - alleugmuid, fpl, Gmad QHTHOH6T

1V. D& &6 L LD - QFHTLHGOLOUILDTE LD

a. i, ii b. i L B C.iv oL (BIb

d. iii o Bib e. alenL Oxflwalsvenev
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66.

67.

68.

Choose the correct statements.

i. In 1938, the National planning commission was set up under the
chairmanship of J.C. Kumarappa.

ii. The sarvodaya plan was inspired by Gandhian plan.

iii. Jawaharlal Nehru was the first chairman of planning commission.

a.i,ii b. ii, iii c. i, iii

d. i, i, iii e. Answer not known

gflwmen smBeoBs CHIHOSHEH.

1. 1938-60 J.C. @omyiur seneveniouied Capdlw HLSEH1) SIenSHSLILL L F).

1. FICauTsWTHLLID &MhHHwG, HLHHE 2 HBadbHITeL HUMFHHLUILL L I

111. H L SGHWaI& (1pFHe0 Hemeval] euamfeored (.

a.i,ii b. ii, iii c. i, iii

d. i, ii, iii e. alewL Gafwealsdenso

Choose the correct statement about GST Council

1. It is a constitutional body under Article 279A (101 Constitutional
Amendment Act, 2016)

2. Union Finance Minister is the Chairperson

3. Decision Making requires a 3/4th majority of members present and

voting
4. Centre’s share is 2/3td of votes cast
a.i, ii b. i, ii, iv C. 1, ii, iii
d. ii, iii, iv e. Answer not known

GST @uw ussw sflwrer gBpismen GHiTw

1. 85 FlLéagmm 279A (10laug FULSHHSHHF FULID 2016) 6T S QI(HID
SITFIUWIG0EMIOLIL]  SIGNLDLILITEGLD.

2. 10HHW BHFH DIHIDFFT EH6T FHENELGUTTEUTIT

3. (pYRGLULSBG H6UbHG O&TeuTL 6uiTerfled 3/4 OILI(HLDUIT6TENLD
o mflenysener aTh@GHen GhHemel

4. ®Fev WHHW AT UBEG 2/3 aThEGHH6T LG

a. i, ii b. i, ii, iv c. 1, 1i, iii

d. i, iii, iv e. alewL O fualedemnsv

Choose the correct statements about Democratic planning?

i. The plan prepared by planning commission should be accepted as such

ii. People are not associated at every step in the formulation and
implementation of the plan.

a.i,ii b. ionly c.ii only

d. none e. Answer not known

&SN g Sl L eneolt uBml sflwmen sampleners CHiIbOSHG.
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1. P LSGpalenmeD SWIMFlSSUILIL L S L QUL (LPEDMBBHEM6IT S Gl

IMBBIHOBTETeUSH DjeuUSIUILD.

1. FLmsmend SHWMfHHe0 B@ID  OFWOLGHHIHI60 2 6o  DIMIISHSDI

Blen6VBGTID 1D&HSH6T LIMIO&HEBLOTL L TTEH6N
a.1i,1i b. i o Bb C. 11 1oL (hd
d. gaidledensv e. alewL Oxflwalsvenev

69. Which of the following is/are incorrect?

i. Democratic planning - “Planning from above”

ii. Decentralized planning - “Planning from below”
iii.Short term plans - “Controlling plans”

a.i,ii b. ii, iii c. i, iii

d. i, ii, iii e. Answer not known

HUBTEL CUTHHSIWmSH CHIHOSH.

1. wésenTldl FH L1 60 - “Gal(Bha SHILLOL 60’
11. ugaueLTSHSILL L FHI L 101 60 - “SPmbHE HILLLOL6D”
1. @B HT60 FHI L LOL 60 - “sBUUBSSHID SHILLID”
a.i,ii b. ii, iii c. i, iii

d. i, ii, iii e. alewl Oxflwalsdensv

70. Choose the correctly matched pairs.

i. Longterm plan - > 10 years

ii. Medium term plan- > 7 years

iii. Short term plan - 1 year

a.i,ii b. i, iii c. ii, iii
d. i, ii, iii e. Answer not known

Fflwmer Deneienld CHiIbHOHM.

1. HeWIL&T0 FH LD - > 10 SyenTHEei

1. FHSHHTHTL HI LD - > 7 LeWI[BHBH6NT

11, GpISWsTen S LD - 1 o1

a.i,ii b. i, iii c. ii, iii
d. i, ii, iii e. alewL G fluwelesbensv

71.  Which of the following statements about NITI Aayog is/are correct?
i. It was formed on January 1, 2015.
ii. It is a policy think-tank of the Government of India.
iii. It replaced the planning commission from 31 December, 2014.
a. i, ii b. i, iii c. ii, iii
d. i, ii, iii e. Answer not known
pHoCwWTd @MNHs Fflumer FmBBIH6T?
1. geaufl 1, 2015-860 MHmleUlILL L Gl
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72.

73.

1. @bhHW SPFeT FHI L BISEHHSTET FHHenen MLOWILDTELD

l.ggouy 31, 2014-00 FLIGUYSHG UHeoTd BbHH  HBIOUTHMm
2_(hAUTEGL (Pyemel Qb DJ&s dBSHI.

a.1,1i b. i, iii c. 11, il

d. i, i, iii e. alenL Oxflwalsvenev

Which of the following statements is/are correct?

i. The Prime Minister is the chairperson of NITI Aayog.

ii. The Vice-chairman of the NITI Aayog is the functional head.
iii. The first vice chairman of NITI Aayog was Aravind panagariya.
a.i, ii b. i, iii c. ii, iii
d. all the above e. Answer not known

gflwmenr gmmueverd CHiIboHb.

1. Upswly maauns sHenevel]

1. @6 S SHHMeVaIGT GIFUIEOHMEVET

11.Hg BTSN (LpHe0 HlenenidHHeneval] SiFalbd LieTaiflum
a.i, ii b. i, iii c. ii, iii
d. GopampPul SemaisEd e el G fluialsbenso

Matcht he following

Nobel Prize Category Nobel Prize Winners in 2023

A. Physics 1. Katalin Kariko, Drew Weissman

B. Chemistry 2. Narges Mohammadi

C. Medicine 3. Moungi G Bawendi, Louis E Brus, Aleksey
Yekimov

D. Peace 4. Pierre Agostini, Ferenc Krausz, Anne L’
Huillier

CQUTHHHIB

Gmpmued uflg Wifley 20238110 spewih GpTusd uflg CUBBeUTS6N

A. SuibLiuwed 1. sl Lelel &faCam, sim meusi@GLoest

B. Gauguied 2. b(HB& (IPSHLDIDG)

C. wmspaiaid 3. Genmid LTGeemIY, sTUllerd Litherd, i6leudhd]
o1& GLomeil

D. seming) 4. Jwfl 9Bsmerviget, . .10 6H SHymerd, ojesiel L
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A B C D

a 1 4 3 2

b. 4 3 1 2

c. 3 4 2 1

d 2 4 1 3

e. allemL  OFflwalsvensv
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74.

75.

The touch-stone of perfection is

a. Accepting the failure of their peers

b. Accepting failure from a victim who is not equal to them

c. Receive a defeat even at the hands of one's inferiors

d. Accepting failure in everyone

e. answer not known

gmeoldhG 2 _mJHeoBumed LHEHSUILBILD SHal wimgl?

H&HG Bementmel QUUTILSHH Cohrevalemul gmmis OHTeiEnHHe0
H&5G BmeauTsrs aedweafisHg Cohmevalmul gbmis OHTeTEnHHD
BHI&HG BmeuuTsrs Oealwealflggl Camevalenw gmmis 6laTeTEngHe0
. 6160CeumiL S Hleuid Cpmevalenu! gmmIh OBT6ITEHH60

alemL  GgMuialsvensv
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The house of a street are numbered from 1 to 49. Senthil’s house is
numbered such that the sum of numbers of the house prior to Senthil’s
house is equal to the sum of numbers of the houses following Senthil’s
house. Find Senthil’s house number?

a. 30 b. 25 c.35 d.20 e. Answer not known

R OFHmaled o sfenm aihdEndH& | (PpHe0 49 auem) OHTLTFFWITS
SHANVHHID  UPBIBLILL BeiTendl.  OFphPevledt il lgBE  (PATIHTS 266
aihdelledl  BHale0HSMIB6NNDT  Fnl (HHOHTOHWITOIH  OFbHHedT il 19BESL
UeiisTes o eienn aiBHeNer SHalevbanmdsela gl (hdh OCHTMHHGHF FIOWD 61660
CabFHevler ol (h BHONVEHDHMBHDH HTEWISH.

a. 30 b. 25 c.35 d.20 e el O flwaiedemnsv
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